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20 | EH =% Y AIR—YZ2ERKkEHE|F 2| 9.300 8.750 | 10.350 | 10.850 30. 500
21 Bl =R Y AR—YZERKEH=E|F 2| 10.900 9.300 | 10.700 | 11.750 33. 350
22 |¥2@ =1 Y AIR—YZ2ERKEHE|F 3| 9.900 9.100 | 11.150 | 10.500 31.550
23 |BE = ROy oEVTHRIESS T2 11.350 | 10.400 | 11.600 | 11.600 34. 550
24 |1BFR IMNE |E#HCroEVSKESS I3[ 10.750 | 10.000 | 9.000 | 11.400 31.150
25 [{EBE WAIK |LA—JFEY ST 2| 11.850 | 12.000 | 11.200 | 12.400 35. 450
26 |¥NE BE L—J&EY 5D 3] 12.250 | 11.200 | 11.950 | 13.150 37. 350
21 |WFE #hE YHAEEY ST 3] 10.900 9.050 | 11.050 | 11.250 33.200
28 [&H EF REAA FET7HEIES ST |0 3| 11.450 | 11.100 9.600 | 12.450 33. 500
29 'hlE = | REAAKEIST f 3 Kokok Kokok Kook *odok Kook
0 MR & Bt F R 3| 8.800 8.400 | 10.500 8. 950 28. 250
31 [#EE & BIEf T FHER 3| 8.050 3. 350 1. 250 8. 350 23. 650
32 M BR  |(RIEHEZFRER $ 3 *okok *okok kokok kKoK kKoK
33 (@)l Yy BlEf - FhER 3| 8.450 1. 250 9.100 8. 550 26. 100
34 18R ¥B8 GBSt FhER 3| 8.050 7.300 7. 600 7. 800 23. 450
3% |[FEH EF |FAEHETRFHER k2| 7.750 1.600 | 4.850 | 7.850 20. 450
6 25 E& FRZEFREPER 2| 8.800 *oxok 8.000 | 10.550 217.350
37 |BEA Ttk FEREZFITRER 3| 9.350 8.450 | 11.900 | 11.350 32. 600
38 |HhEr KIF TR ZFRERER 3| 11.600 | 10.050 | 11.700 | 12.400 35.700

2024/8/5



FAOFBFRBERERE KREBRTFEXS

[ZF&E#R No.5)

h 2 F4£DER

_ ‘ B B |[REVETHE FE B & o IFEBHKRE
No. EFK4A i B £ FEI- 1 1 1 1 1 RE

7 R |EGE| T = B F =2 ERE & = Bl 5 = |IBEAL

25| £k WAL | L—DFigy 5D 2] 11.850 1 112.000 1 111.200 2 | 12.400 1 35. 450 1 —
23| & = E E&fCryoEVIREYST 2| 11.350 2 | 10.400 2 | 11.600 1 111.600 3 34.550 2 10.90
21 B £ P | P RAR—YEEEKEHE F 2] 10.900 3 9. 300 3 | 10.700 3 | 11.750 2 33. 350 3 |1.20
200 £ H B R (Y- RAR—VEERKkEHE d 2| 9.300 4 8.750 | 4 [10.350 | 4 | 10.850 4 30.500 | 4 [2.85
36 2 B £ 3R |EFEEXERPER 2| 8. 800 5 sk 8. 000 5 110.550 5 27. 350 5 13.15
3B | FEH EF |AEHTFPER 2| 7.750 6 1.600 5 4. 850 6 7.850 6 20. 450 6 |6.90
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26 WM E B E L—TUKEIST F312.250 | 1 | 11.200 | 1 | 11.950 | 1 |13.150 | 1 37.350 | 1 -
8| 1 H RB FRLXFRPER fF3]11.600 | 2 |10.050 | 3 | 11.700 | 3 |12.400 | 3 35.700 | 2 [1.65
28| € H §H RERA FET7HREY ST | H3|11.450 | 3 [11.100 | 2 | 9.600 | 7 |12.450 | 2 33.500 | 3 [2.20
27| W 7 i YdpakiEs 57 HF3]110.900 | 4 | 9.050 | 6 | 11.050 | 5 |11.250 | 6 33.200 | 4 (0.30
3| A H T i TFRXERPER 3| 9.350 | 7 | 8450 | 7 |11.900 @ 2 |11.350 | 5 32.600 | 5 [0.60
22| B & 75 Y- RR—UZEREKEHE $F3| 9.900 | 6 [ 9.100 | 5 [11.150 | 4 |[10.500 | 7 31.550 | 6 [1.05
24| ER IMNEFE FEBOYUOEUITHEYZT| H3]10.750 | 5 [10.000 | 4 [ 9.000 | 9 |[11.400 | 4 31.150 | 7 [0.40
0| M A B |AERLTFHRER HF3| 8800 | 8 | 8400 8 |10.500 6 | 8.950 | 8 28.250 | 8 [2.90
3| @I Y Y REHXFPRER F3| 8450 | 9 | 7.250 | 10| 9.100 | 8 | 8.550 | 9 26.100 | 9 (2.15
31| #E H Z |AEREFHER F3| 805 | 10| 3.350 | 11| 7.250 | 11| 8.350 | 10 | 23.650 | 10 |2.45
4| 18 & ¥ B REHXFPFER HF3| 805 | 10| 7.300 | 9 | 7.600 | 10| 7.800 | 11 23.450 | 11 10.20
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1 EkE WAL L—JKESST 11.850 1 EE WAIEX L—JFEYST 12.000
2 52 = = :‘?‘:%K“/“—\"‘/E"/'j‘1$?;'757‘ 11.350 2 7 =E = :‘?‘:%B“)—v)t")ﬁﬁ‘ﬁ'?%j 10. 400
3 BH ERN | Y- RER— QWKAﬁE 10. 900 3 B FE R Y RAR—VEERKEHE | 9.300
4 rH B FE ¥ RR—YEEBKEHZE | 9.300 4 + H T R (Y RR— ‘J—‘:LA KkEH=E | 8.750
5 EE EF4& 3F§3ﬁ$|‘m¢'%*x 8. 800 5 FEH EF RSHTFHRER 1. 600
6 FEH EF |[FAEHZFPER 7.750
T ¥ A B NEFIE

JBh, & F 4 it = # 5 = JIE 132 2 F A it B % 5 R
1 5 E ZE RECYUEVIRIES ST | 11.600 1 EE WA L—JFEYST 35. 450
2 EHE WAL A—"ﬁ1$?§7<7 57 11.200 2 5 = E mE#Trr 5’97‘1715?;7 <7 | 34.550
3 B FE R Y AR—YRERKEHZE | 10.700 3 BB fFE R Y RAR—YEERKSHE | 33.350
4 TR B X Y¥-RXK-— ‘J%Q KKEHH=E | 10. 350 4 + H T X (Y- RKR— J%Q Ak=#=E | 30.500
5 HEE 43 FTEXERDPER 8. 000 5 = £ £ | FREZZRBPER 27.350
6 FEH EF |[FAEHZFPER 4.850 6 FEH EFHF REMTFPER 20. 450
) paN

JBR, & F A Fir = # 5 =
1 EE WAL A—'ﬁﬁ‘ﬁ‘i? 57 12. 400
2 B FER Y AR—YRERKESHE | 11.750
3 72 = = §%59V>t/71$?*777 11. 600
4 A B %X Y¥-XK— EBKk=HH=E | 10. 850
) HEE £ 43 FTELXERPER 10. 550
6 FEH EF |FAEHZFPER 7.850
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IBhL| % F 4 Pt & % T R B,  #& F il & % T R
1 wE BE L—TWEREIST 12. 250 1 wE FE L—TUREIIT 11.200
2 | 7 H RB |FREFRPFR 11. 600 2 | 5 H EH F EBRALETHEIESZT | 11.100
3 | §H B F FHRAALETHEIST | 11.450 S | B H X B FREFRPFR 10. 050
4 | HF WME YHAKEIST 10. 900 4 | BB R INEF REBOYOEVITHKES ST | 10.000
5 | BR NMNEFE FEBOYUEVIKIEVST | 10.750 5 | M H & 7 |¥-RAR—VRERKEHE | 9.100
6 WH &7 Y- RAR=VYREREKIHE | 9.900 6 W E M E YHhAKEIST 9.050
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1 WME BFE | L—TKEITT 11.950 1 wE BB LTRSS T 37.350
2 | BB F# PREFRPER 11.900 2 | v H R B FRREFERPER 35. 700
3| B H RB |FREFRPFR 11.700 3| & H EH F EBRAELETHRIEI ST | 33.500
4 | mE & Y- RAR=—VEEREKEEE | 11.150 4 W FE WmE YhAKEISD 33. 200
5 WE WME |YHAKEIST 11.050 5 4 H F & TFREXFRDER 32. 600
6 | M N A ASHZFPER 10. 500 6 B & 7 Y- AR—YEERKSEE | 31.550
wp AN

B, & F % il & % T R
1 wE BE L—TJWEIST 13.150
2 | S H#H B F FEBRAMETERIEIST | 12.450
3| B H RB |FREXFRPFR 12. 400
4 | BER MEF REBOYOEVIEKESST | 11.400
5 | B H F# TREFRPFER 11. 350
6 WFE WE YHAKEIST 11. 250
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